Donner les écritures simplifiées :

yX4= 2X(a+bh)= xXXx= 5-2XyXy=
3X4Xa= (6—x)x5= 5XzXz= (axXa+7)x4=
3Xb+6= Ax(axb—1)= axXaxXa= 6X5—xXxX2=
5XxX3= 2X(3x4xXy)= YXB8X y= 8X(b+bX4Xb)=
axXbXc= 5Xy—xXy= 3XaX9xXb= 6XxXx—xX3+5=
2XeX3XT7= TXa+bX8= 4XxXxX8= aXa+2XaXb+bXb=
5+8Xy= 4X xXT7—3= bXbX2Xb= XX y+yXx=
9—xX2= 6X3—2Xc= axXbXcXb= cXcX(d—BXC)X2:

Donner les écritures simplifiées :

yX4= 2X(a+b)= XXXx= 5-2XyXy=
3X4Xa= (6—x)x5= 5XzXz= (aXa+7)x4=
3Xb+6= 4x(axb—1)= aXaXa= 6X5—xXxX2=
5XxX3= 2X(3x4xXy)= YX8Xy= 8X(b+bX4Xb)=
axXbXc= 5X y—xX y= 3XaxX9xXb= 6XxXx—xX3+5=
2XcX3X7= TXa+bX8= 4XxXxX8= aXa+2XaxXb+bXxXb=
5+8X y= AX xXT—3= bXbX2Xb= XXy+yXx=
9—xX2= 6X3—2Xc= axXbXceXb= cXcX(d—BXc)X2=

Donner les écritures simplifiées :

yX4= 2X(a+b)= XXx= 5-2XyXy=
3X4Xa= (6—x)x5= 5XzXz= (aXa+7)x4=
3Xb+6= 4x(axb—1)= aXaxXa= 6X5—xXxX2=
5XxX3= 2X(3x4xy)= YXB8Xy= 8X(b+bx4xb)=
axXbXc= 5Xy—xXy= 3XaX9Xb= 6XxXx—xX3+5=
2XcX3X7= 7YX a+bX8= 4XxXxX8= aXa+2XaxXb+bXxXb=
5+8Xy= AX ¥ X7 —3= bXbX2Xb= XX y+yXx=

9—xx2= 6X3—2Xc= axXbxcxb= exex(d—3Xc)x2=



